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General Instructions for students :

1) Use mask & keep at least 3 ft. distance from each other.
2) Read carefully and attempt all questions.
3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.

Example: Heis____ to school.
a) goes b) went
(©) going d) go

4) If more than one options are encircled in a question, no mark will be given.

I Total Marks: 50 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour

Instructions: - Twenty five (25) questions are given in this paper. Each question carries 2 marks.

Question No.1: Which of the following is the plural of the word "Thief"?

a) Thiefs
b)

¢) Thefs
d)

(
(b) Thieves
(
(

Thievs

Question No.2: Choose the sentence with correct spelling.
(a) Heis an intilligant student.

(b) He is an intallegent student.
(c) Heis an intilligunt student.
(d)

d) Heis an intelligent student.
Question No.3: Which action is shown in the picture?
(a) Eating
(b) Weeping
(c) Walking
(d) Sleeping
Question No.4: Choose the adjective of the noun “Music”.
(a) Musically (b) Musical
(c) Musifull (d) Music
Question No.5: Which collective noun is used for a group of cows?
"A_ of cows"
(a) team (b) crowd

(c) flock (d) herd



Question No.6:

Which sentence is about asking permission?

(a) Why did he open the door?

(
(c
(

Question No.7:
(a) Liked
(c) Started

Question No.8:

(c)

Question No.9:
(a) Are
(c) Can

Question No.10:

(a) This is best the book.
(c) This is the best book.

Question No.11:

b) | shall open the door.
May | open the door?

)
d) Please open the door.

Choose the word that ends with /id/ sound.

(b) Faced
(d) Worked

Identify the picture having a “Diphthong” sound.

Identify the sentence with the correct use of "article".

(b) The this is best book.
(d) This the is best book.

In which of the following sentences, the pronoun agrees with the noun?

(a) Sara is responsible for his activities.

(
(c
(

Question No.12:

Question No.13:
(a) taller

(b) talled

(c) tallest
(d) tall

Question No.14 :
(a) Aslam.s house

(c) Aslam-s house

Question No.15:

b) Sara is responsible for their activities.
Sara is responsible for her activities.

)
d) Sara is responsible for my activities.

"How ___ stars are there in the sky?"
"Akram is taller than Amir but Ramizisthe ___ -

» 0
"Wow! is new and beautiful."

(b) Aslam’s house

(d) Aslam,s house

Identify the sentence showing "Simple Future Tense".

(a) Rivers flow from higher to lower level.

(
(c
(

)
d)

b) He worked hard to pass his exams.
The world will overcome poverty soon.

He is searching a book in the library.



Question No.16: Which option can be joined with "Sun" to make a compound word?

(a) b

o
Question No.17: "We____ got any help from them."
(a) has not (b) have not
(c) are not (d) am not
Question No.18: Identify the type of statement.
“Shut the door!”
(a) Command (b) Request
(c) Question (d) Permission
Question No.19: Identify the adjective of origin from the given sentence.
"The famous Pakistani Markhors are the largest wild goat species."
(a) Famous (b) Pakistani
(c) Largest (d) wild
Question No.20: Identify the "Past Continuous Tense" from the following.

(a) We are playing in the ground.
(b) We will be going to class.

(c) We have finished our work.

(

)
d) We were listening to the music.

Question No.21: Look at the pictures and encircle the correct compound noun.
(a) Baceketball
(b) Basketbal
(c) Basketball
(d) Basketbaal

Paragraph Instruction
Read the following paragraph carefully and answer the questions given below.

Wheel is a great invention. It is very helpful for us. Its use has made our life easy. We use it in many things. It is
used in bicycles, motor cycles, cars and many other things. We can travel in short time with its help. We can
transfer heavy things from one place to another place. We do not feel tiredness while doing work with its help.
We can work more. We have to use less energy. So, it is really an amazing invention.

Question No. 22 : What type of life has wheel made for us?

(a) Easy (b) Punctual
(c) Smart (d) Difficult

Question No.23 : Identify the object having wheels in it.

(a) Fan (b) Brick
(c) Tub (d) Truck

Question No.24 : Identify the meaning of the word "Energy".

(a) Money (b) Burden

(c) Power (d) Brake

Question No.25 : Choose the effect of wheel on the travelling of a man.
(a) Man travels in short time.

(b) Man travels in long time.
(c) Man dislikes travelling.
(d)

Man hates travelling.
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